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Interactive Question

A tennis ball 1s thrown upward at e~

an angle from point A and follows o\ C .

a parabolic path as shown. (The /B N
motion 1s shown from the time the oA De

ball leaves the person’s hand until
just before it hits the ground.)

At what point 1s the horizontal velocity equal to the
horizontal velocity at A?

A)B B) C o
C)D D) All of the above
E) None of the above
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an angle from point A and follows o\ C >\

a parabolic path as shown. (The ! B Y
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just before 1t hits the ground.)

At what point 1s the vertical acceleration equal to
zero?
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Interactive Question

A tennis ball 1s thrown upward at e~

an angle from point A and follows RSN

a parabolic path as shown. (The . B "\
motion 1s shown from the time the oA | ;

ball leaves the person’s hand until
Just before it hits the ground.)
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